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-ACHARYA VIDYA KULA
III Assessment —January 2019

STANDARD: VII' MAX MARKS: 20
SUB: MATHEMATICS MAX. TIME: £0Minutes
GENERAL INSTRUCTIONS

e Answers to this paper must be written on the paper provided separately.

e You will not be allowed to write during the first 5 minutes.

o This time is to be spent in reading the question paper.

o The time given at the head of this paper is the time allowed for writing the
answers.

o Read the questions carefully and write the question numbers clearly as given in the
question paper. Follow the same system of numbering as given in the question
paper. Follow the instructions carefully and answer to the point.

e The intended marks for questions or parts of questions are given in brackets[ ]

1. If A:B=3:4and B:C=6:7, then find A:B:C in simplest form. [2]

2. Two numbers are in the ratio 4:7 and their sum is 132, find the numbers. [2]

3. The ratio between the length and width of a rectangular sheet of paper is 7:5. If the
width of the sheet is 20.5cm, find its length. 2]

4. If 15 men can pack 540 parcels per day, how many men are needed to pack 396
parcels per day. [3]

5. A bicycle costs Rs.18000, after 6 months its value became Rs. 16000. By what
percent has the price decreased. [2]

6. TfA={1,2,3,4} and B={2,4,6}, verify that (AU B)=n(A) + n(B) -n(ANB)  [3]

7. In the given figure [ASB = [ACD= 3¢’ AB=13cm, ACs12cm and CD=9¢m. Find

. BC ‘ [3]
II. AD
II. BD.
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8. The point P(3,75) is reflected in origin to point Q. point Q is further reflected in X-
axis to point R. Find 3]
1. The co ordinates of Q
II.  The co- ordinates of R
L.  The image of p(3,~5) in Y-axis.




